

**Δ. 9**

$\frac{\partial f}{\partial x}(x,y) = 3x^2 + 3y$   
 $\frac{\partial f}{\partial y}(x,y) = 3y^2 + 3x$   
 $\frac{\partial^2 f}{\partial x^2}(x,y) = 6x$   
 $\frac{\partial^2 f}{\partial y^2}(x,y) = 6y$   
 $\frac{\partial^2 f}{\partial x \partial y}(x,y) = 3$

Κρ. συνθήκη:  $\frac{\partial f}{\partial x} = 0$  και  $\frac{\partial f}{\partial y} = 0$   
 $\Rightarrow \begin{cases} 3x^2 + 3y = 0 \\ 3y^2 + 3x = 0 \end{cases} \Rightarrow \begin{cases} y = -x^2 \\ x^2 + x = 0 \end{cases}$   
 $\Rightarrow \begin{cases} y = -x^2 \\ x = 0 \\ x^2 = -1 \end{cases} \Rightarrow \begin{cases} (x,y) = (0,0) \\ (x,y) = (-1,-1) \end{cases}$

$(0,0): \Delta = -9 < 0$   
 $(-1,-1): \Delta = 27 > 0$

$\frac{\partial^2 f}{\partial x^2}(-1,-1) = -6 < 0$  (συνέχεια σφαιρικού Τ.Μ.)

**Δ. 17**  $D: \Gamma \cup \Delta$

$f(x,y) = -x^2 - y^2 + x + y + 2$   
 $D: \frac{\partial f}{\partial x} = \frac{\partial f}{\partial y} = 0 \Rightarrow \begin{cases} -2x + 1 = 0 \\ -2y + 1 = 0 \end{cases}$

$(x,y) = (\frac{1}{2}, \frac{1}{2}) \in D$   
 $f(\frac{1}{2}, \frac{1}{2}) = 2,5$

$\Delta: AB \cup \Gamma \cup \Delta \cup \Gamma \Delta \cup \Delta A$   
 $AB: (t) = (0,1) \rightarrow \mathbb{R}^2 \xrightarrow{\langle x(t), y(t) \rangle = A + t \overrightarrow{AB}}$   
 $\leftarrow (5,0)$   
 $\in \rightarrow (5,0)$   
 $\in \rightarrow (0,1)$

$F(t) = f \circ (t) = f(5t, 0) = -25t^2 + 5t + 2, t \in [0,1]$

$F'(t) = 0 \Rightarrow -50t + 5 = 0 \Rightarrow t = 0,1 \in [0,1]$   
 $t = 0,1 \rightarrow (0,5,0) \quad f(0,5,0) = 2,25$   
 $A: f(0,0) = 2 \quad B: f(5,0) = -18$   
 $\Gamma: (t) = (5,0) + t \cdot (2,4) = (5+2t, 4t), t \in [0,1]$   
 $F(t) = f(5+2t, 4t) = \dots$

**Δ. 20**

$\begin{cases} 6x = \lambda \cdot 2x \\ 10y = \lambda \cdot 2y \\ x^2 + y^2 = 1 \end{cases} \Rightarrow \begin{cases} x=0 \Rightarrow \lambda=3 \\ y=0 \Rightarrow \lambda=5 \\ x^2 + y^2 = 1 \end{cases}$

$x=0 \Rightarrow \lambda=3$   
 $y=0 \Rightarrow \lambda=5$   
 $x^2 + y^2 = 1$

$\lambda=3$   
 $\lambda=5$

$(-1,0) \Rightarrow f(-1,0) = 3$   
 $(1,0) \Rightarrow f(1,0) = 3$   
 $(0,1) \Rightarrow f(0,1) = 5$   
 $(0,-1) \Rightarrow f(0,-1) = 5$

(0,1) and (0,-1) are labeled as "Μέγιστο" (Maximum).  
 (-1,0) and (1,0) are labeled as "Ελάχιστο" (Minimum).

**Δ. 21**

$\begin{cases} 2nrh = \lambda \cdot (4nr + 2\pi h) \\ \pi r^2 = \lambda \cdot 2\pi r \\ 2nr^2 + 2nrh = C \end{cases} \Rightarrow$

$r \cdot h = 2\lambda \cdot r + 2\pi h$   
 $(r=0) \rightarrow \nu(r,h) = 0$  (απαλοιφή του λ)  $\rightarrow 2x2$  δυνάμεις  
 $\lambda = \frac{r \cdot h}{2} \Rightarrow$   
 $2nr^2 + 2nr \cdot \frac{r \cdot h}{2} = C$   
 $2nr^2 + nr \cdot h = C$   
 $h = 2r$   
 $2nr^2 + 4nr^2 = C \Rightarrow r = \sqrt{\frac{C}{6\pi}}$   
 $h = 2\sqrt{\frac{C}{6\pi}}$  (Μέγιστο)

**Δ. 24** β' Τρόπος λύσης:

$\rightarrow$  υπολογίζω τομή επιπέδων

$(1) \rightarrow x = 10 - 3z$   
 $(2) \rightarrow 2(10 - 3z) + y + z = 1 \Rightarrow \begin{cases} x = 10 - 3z \\ y = -19 + 5z \end{cases} \begin{matrix} (z=0) \\ (z \in \mathbb{R}) \end{matrix}$

$\langle x(t), y(t), z(t) \rangle = \langle 10, -19, 0 \rangle + t \cdot \langle -3, 5, 1 \rangle$   
 $t \in \mathbb{R}$

$d(x,y,z) = x^2 + y^2 + z^2$   
 $\Rightarrow d(t) = (10-3t)^2 + (-19+5t)^2 + t^2 \in \mathbb{R}$   
 $d'(t) = 0 \rightarrow \dots t = \dots \Rightarrow d(t) = \dots$   
 $(x,y,z) = \dots$

$$\Delta.26 \left\{ \begin{array}{l} 2x+y = \lambda 4x^3 \quad (1) \\ 2y+x = \lambda 2y \quad (2) \\ x^4+y^2 = 1 \quad (3) \end{array} \right\} \left\{ \begin{array}{l} (2x+y)2y = 4x^3(2y) \\ x^4+y^2 = 1 \\ \left( \lambda = \frac{2y+x}{2y} \right) \quad y \neq 0 \end{array} \right.$$

$\otimes$  An  $y=0 \Rightarrow x=0 \Rightarrow D=1$  o'ldi

$$\left\{ \begin{array}{l} 4x^4 + 4x^3y - 4xy - 2y^2 = 0 \\ x^4 + y^2 = 1 \end{array} \right.$$